Efficiency vs Dxy(PV)

efficiency vs dxy(PV)

o
©

o
e

0.4

-

0.95,

=25

201510 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

1T _retrain

—=— DQM_mKFIT_
—e— DQM_mkFit_TT_NEWdefault_specPLess1

—— DQM_mkFit_TT_NEWdefault_specPLess2
—— DQM_mkFit_TT_NEWdefault_specPLess3
—— DOM_mkFit_TT_NEWdefault_specPLess4

efficiency vs dxy(PV.

Ratio

0.7

0.6

0.5]

0.4

0.3]

0.2]

-1 —.0?8—0.(:—0.4—0.2 0 0.2 31 0.6 0.8

I Il Jlm

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

1- -

| S O o aees
0.8fF--- e b de bt
! SO S SO ! I -
0.4 e Sah FER
0.2f--e e P e Eah Feeens
L-w- i i i i

L TR R R EEEIEETET
0%30 20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

Ratio

1.

i

10

1.9

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


